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G. K.

Q.1) Which one of the following sequences is correct in the context of three largest wheat producing
States?
(A) Punjab, Uttar Pradesh and Haryana
(B) Uttar Pradesh, Haryana and Punjab
(C) Uttar Pradesh, Punjab and Haryana
(D) Punjab, Haryana and Uttar Pradesh

Q.2) Consider the following stements about U.P. :
1. Government is striving hard to achieve goal of mass education.
2. It has decided to extend the scheme of Shiksha Mitra to urban areas.
3. The Shiksha Mitra in urban areas witeive a monthly honorarium of Rs. 2,400.
4. They will be recruited from peyss receiving unemployment allowance.

Of these statements :

(A) 1, 2, 3 and 4 are correct
(B) 1, 3 and 4 are correct
(C) 1, 2 and 4 are correct
(D) 1, 2 and 3 are correct

Q.3) Invisible export means export of :
(A) Services (B) Prohibited goods
(C) Unrecorded goods (D) Goods through smuggling

Q.4) The gas which emits from rice field is :
(A) Ethane (B) Methane
(C) Nitrogen (D) All of the above

Q.5) Match List-I1 with List-1l and select the correct answer using the code given below :
List-I List-II
(a) Birha 1. Bhojpuri
(b) Kajri 2. Avadhi
(c) Malhor 3. Braji
(d) Rasia 4. Kauravi

Codes :

@ () (c) ()
A) 2 1 4 3
B) 1 2 3 4
< 4 2 3 1
(D) 3 1 2 4

Q.6)  Which one of the following pairs i®ot correctly matched?
(A) Diesel Locomotive Works : Varanasi
(B) Indian Telephone : Rae Bareilly Industries
(C) Bharat : Noida Electronic Ltd.
(D) Oil Refinery : Mathura

Q.7)  Foreign Corporations are governed by :
(A) Special Act of Parliament
(B) Ministry of Foreign Affairs, Government of India
(C) Indian Companies Act, 1956
(D) None of the above
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Q.8) As per recent nuclear agreement signed by GeatgBush, President of USA and Dr. Man Mohan
Sing, Prime Minister of India, ghnumber of nuclear reactors whikitia has agreed to open up for
inspection by International Atomic Energy Agency is :

(A) 10 (B) 12
(C)14 (D) 16

Q.9) The bacteria responsible for fitg nitrogen in Soyabean is :
(A) Rhizobium leguminorserum
(B) Rhizobium japonicum
(C) Rhizobium phaseoli
(D) Rhizobium trifolii

Q.10) Crop logging is a method of :
(A) Soil fertility evaluation
(B) Plant analysis for assessing the requirement of nutrients for crop production
(C) Assessing crop damage
(D) Testing suitability of fertilizers

Q.11) India’s rank in vegetable production is :
(A) First (B) Second
(C) Fourth (D) Fifth

Q.12) U.P. has been divided into :
(A) 11 agro-climatic zones(B) 9 agro-climatic zones
(C) 7 agro-climatic zones (D) None of the above

Q.13) Consider the following statements :
1. Prime Minister Dr. Man Mohan Singh launched the Jawahar Lal Nehru Urban Renewal Mission in
December 2005.
2. The Mission will have an initial corpus of Rs. One lakh crore.
3. Initially only 28 State capitals will benefit from the Mission.
4. The Mission aims to provide food for work to the urban poor.

Which of the above statement(S) is/are correct?

(A) 1 and 3 only (B) 1 and 2 only
(C) 1, 2 and 3 only (D) All the four
Q.14) Government of India has taken a decision to set up a price stabilization fund for the growers of :
(A) Potato and onion (B) Sugarcane growers
(C) Coffee and tea (D) Tomato

Q.15) A labour intensive industry is one that :
(A) Requires hard manual labour
(B) Pays adequate wages to the labour
(C) Employs more hands
(D) Provides facilities to labour

Q.16) If a complete ship is hired, the Shipping Company issues :

(A) Shipping Order (B) Charter Party

(C) Bill of Entry (D) Railway Receipt
Q.17) Ripening hormone is :

(A) Gibberellin (B) Morphactin

(C) Ethylene (D) I.B.A.
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Q.18) We obtain turmeric from which part of the plant?

(A) Stem (B) Root
(C) Fruit (D) Flower

Q.19) Who among the following has been given ‘World Citizenship Award’ 2006?
(A) Kofi Annan (B) Jimmy Carter
(©) Bill Clinton (D) Ronald Reagan

Q.20) Who has been recently given ‘Indira Gandiwvard for National Integration’ 20057
(A) Bismillah Khan (B) Jyoti Basu
(C) Javed Akhtar (D) Mahesh Bhatt

Q.21) ‘Tshwane Declaration’ was signed by representative of :
(A) India and South Africa
(B) India and Brazil
(C) India, Brazil and South Africa
(D) India and Myanmar

Q.22) Who of the following have received the Nobel Prize 2006 in Medicine?
(A) John C. Mather and George F. Snoot
(B) Craig C. Mello and Andrew Z. Fire
(C) Steven Boone and Curtis Cooper
(D) Roger Kornberg

Q.23) Select the one which it the responsibility of Gram Sabha under the ‘Rural Employment Guarantee
Act, 2005’ :
(A) To recommend projects to the GrammBtaayat and prepare list of possible works
(B) To receive applications favork and issue a dated receipt
(C) To monitor the execution of works within the Gram Panchayat
(D) To conduct regular social audits of all the projects taken up within the Gram Panchayat

Q.24) Consider the following statements about the ‘Righhformation Act, 2005’ and select one which is
not provided for or specially exempted :
(A) Itis not applicable in the state of Jammu and Kashmir
(B) An applicant making request for informatiofiliaave to give reasons for seeking information
(C) Removal of Chief Information Commissioner
(D) Every Information Commissioner shall hold office &éoterm of 5 years or till the age of 65 years
whichever is earlier

Q.25) Consider the following statements :
1. The First ever East Asia SummitsyMaeld in Singapore in December 2005.
2. The Summit was attended by 16 countries from the East Asian region including India.

Which of the above statement(s) is/are correct?

(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2
ANSWERS
1. (©) 5. (B) 9. (B) 13. (B) 17. ©
2. (D) 6. (©) 10. (B) 14. (©) 18. (A)
3. (A) 7. (©) 11. (B) 15. ©) 19. (©)
4., (B) 8. (A) 12. (B) 16. (B) 20. (©)
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21. (A 22. (B 23.  (B) 24.  (B) 25.  (B)
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